1. Vypočítaj
a. 25+481=
b. 303+99=
c. 46+219=
d. 192+18=
2. Doplň  chýbajúce číslo:
a. 13+......=527
b. .........+19=108
c. 25+........=187
3. Vypočítaj
a. 96-28=
b. 101-36=
c. 235-99=
d. 65-16=
4. Vypočítaj rozdiel čísel
a. 26 a 97
b. 31 a 67
c. 101 a 11
5. Vypočítaj
a. 28+78-35=
b. 39+64-44=
c. 19+145-87=
d. 12+13+14+15+16+17+18=
6. Doplň  operáciu sčítavania(odčítavania) a správne  číslo

43 ........................25............................31................................78................................64
